Unit 2B Systems of Equations
Test Review
This review has over 100 qusTions.
You may need exira notebook paper to complete this problems neatly.
This review is Due Monday 9/9.
How to Review:

1. Put away all notes and work on the problems you know how to do
immediately
2. Take out notes to help you with the ones you do not know.
3. CHECK your answers on the board or on the blog
a. What does Ms. Walsh mean by check?
i. Look fo see if your answer matches
ii. Ifit doesn’t, mark it wrong
iii. After reviewing all answers sit down WITHOUT my key and
try those problems again
iv. Check again
v. If you are sfill getting problems wrong, then you should
come in for futoring.
vi. NO ONE SHOULD HAVE A PERFECT PAPER. | should see
erase marks, mini reminders to yourself and effort : )

Yes, this review has a ton of problems. The more you practice the more
confident you should feel on Monday. You have alt of class on Friday (maybe
Thursday) and all weekend to study!

Tutoring:
Monday 9/9 at 7:15 am

All weekend on the Remind App - still haven't joined?222 text @33d46b to the
number 81010







Unit 2’Review
Solve system of linear equations by graphing.

5
F=-§%¥-+-3-
y= ~§~lx-— 3

y==3x+35
Sx—4y=-3

~Zx=5y= =10
dx+8y =18

“..
e R
LR it
S

Solve system of linear equations by elimination.

x-y=11
2x+y=19

F=Fy==b



1.

3.

4.

Linear Systems Word Problems

A test has twenty questions worth 100 points. The test consists of True/False questions worth 3 points
each and multiple choice questions worth 11 points each. How many multiple choice questions are on
the test?

Equation 1:

Equatibn 2:

Solution:

The difference of two numbers is 3. Their sum is 13. What are the two numbers?

Equation 1:

Equation 2:

Solution:

The admission fee at a small fair is $1.50 for children and $4.00 for adults. On a certain day, 2200
people enter the fair and $5050 is collected. How many children and how many adults attended?

Equation 1:

Equation 2:

Solution:

At an ice cream parlor, ice cream cones cost $1.10 and sundaes cost $2.35. One day, the receipts for a
total of 172 cones and sundaes were $294.20. How many cones were sold?

Equation 1:

Equation 2:

Solution:

Lisa goes to the mall one day and buys four shirts and three pairs of pants for $85.50. She returns the
next day and buys three shirts and five pairs of pants for $115.00. What is the price of each shirt and
each pair of pants?

Equation 1:

Equation 2:

Solution:
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Name:

2.19 — Algebra Test Review

Date:

" se the following to review for you test. Work the Practice Problems on a separate sheet of paper.

What you need

Things to
o know & be g Problem Problem
remember :
able to do
1. 2.
Check to see if an (1,2} {;; %}y _=_E};!.- (-6 -2] {2“:; E ;; :_,io
ordered pairis a Plug inio both ' - '
solufion fo a system | eqguations
of finear equations. -
y=-x-2 y=x+2
Sy 4. 1
X+y=3 y :Zx']
e Get"y" by ifself.
, . e |dentify the slope 5 6
Find the solu_hon of (M) and the y-int
a system of linear (b)
eyquo;;gns by ey =mx+h 2
Arapaing. e Check your 6| -4 4 " p >
answerl q
ﬁ‘E L
s Solve one of the . X +8y=6 6. FFy=lo
equations for a X+4y=-6 x-y=7
variable (either x
. . or yJ.
find 1he solfion of 14 Subsitute info
asysie the other
equations by +
substitution equaton.
R E— ¢ Plug back into
the ORIGINAL!
o Check your
answerl
¢ Decide which 12¢x-8y=12 2X-7y=6
varigble you ) 6x_7y:_-|2 ' 'X"3y:3

Find the solufion of
a system of inear
equations by
elimingtion.

want to getrid
of.

o Make sure the
coefficients are
opposite

e Add the two
equations.

e Solve for the
variable.

» Substitute back
into the original.

| Check your

answer!
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2.19 — Algebra Test Review

Find the solution of
a system of linear
equations by the

e Checkif apairis
dlready opposite
for elimination.

e Check to see if
either equation is
already solved
for a variable for
substitution.

~3x+y=17 -
C 8x+7y=3

3x-3y=-3
Sx+9y =29

best method. e Check toseeif
the sequations
are already in
slope-intercept
form.

11, List the different types of 12. Explain what the graphs
solutions a system of lock like for each type of
equations. solution.

o Define x and y.
e Setup two
Different types of equations. . -Expiain what each solution locks
solutions e Decide the best like when you solve a system of
method. equations.
+ Solve.
y>-2x-3 yE<x+]
¢ Make sure both 13, 1 14. y<-x-3 (
equations are in YS§X+2

Graphing a system
of linear
inequalities.

slope-intercept
form.

s Decide if the

tines will be solid
or dashed.

¢ Graph the lines.

e Test a point-
typically {0.0}.

e Shade
appropriatety.

e Lt .

N3

M

Fi
L

Determine solutions
1o systems of linear
inequalifies

¢ [Lock at the

graph (the
shaded region)

15.15 {0, 1) o solution to #132
Is {-1, -1) a solution fo #13%
Is (-2, 3) a solution to #1372

fs {-5. -5) cisolution to #13%

16. 1Is (1, 2) a solution to #142
s {-2, -4) a solution to #142
Is {-3. 0) a solution tc #142

s (3, 1) asolution to #142




Graphing Linear Systems Practice

1. . Solve the following system of equations by graphing,
—4x+ 3r=-12
—Zx4dy=-if
a

2. Which linear system is represented by this graph?
a) x-y=2 by
Sx+ Ty = 17 e AR
- S -] L O S :
N
i3] r—y=d e N
54 Ty =17 ' ,
\\\,% )
e} x-y=6 A Vil
bx + Ty =17 N S
& A H g :
e : :
d)y x—y=8 , i :
Tx 4+ 5p =17 Bl 0 & o
I
;
b’




Graphing Linear Systems Practice

3. Which graph represents the solution of the Hnear systeny
35—y =4
x-y=2
Graph A ¥ Graph ¢
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Which graph represents the sohstion of the lincar system:
y=-2x+32
P B=2r
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Word Problems Practice Date Period

[) Dan's school is selling tickets to a fall musical. On the first day of ticket sales the school sold 6
adult tickets and 2 student tickets for a total of $90. The school took in $108 on the second day

by selling 3 adult tickets and 8 student tickets. Find the price of an adult ticket and the price of a
student ticket.

A) adult ticket: $12, student ticket: $9 B} adult ticket: $14, student ticket: $11
C) adult ticket: §15, student ticket: $6 D) adult ticket: $5, student ticket: $13

2) Ming and Danielle are selling wrapping paper for a school fundraiser. Customers can buy rolls
of plain wrapping paper and rolls of holiday wrapping paper. Ming sold § rolls of plain wrapping
paper and 5 rolls of holiday wrapping paper for a total of $170. Danielle sold 4 rolls of plain
wrapping paper and 10 rolls of holiday wrapping paper for a total of $220. What is the cost each
of one roll of plain wrapping paper and one roll of holiday wrapping paper?

A) roll of plain wrapping paper: §15, roll of holiday wrapping paper: $20
B) roll of plain wrapping paper: $14, roll of holiday wrapping paper: $22
C) roll of plain wrapping paper: $10, roll of holiday wrapping paper: $18
D) roll of plain wrapping paper: $5, roll of holiday wrapping paper: $26

3) Perry and Julia are selling fruit for a school fundraiser. Customers can buy small boxes of
oranges and large boxes of oranges. Perry sold 5 small boxes of oranges and 5 large boxes of
oranges for a total of $175. Julia sold 6 small boxes of oranges and 10 large boxes of oranges for
a total of $290. Find the cost each of one small box of oranges and one large box of oranges.

A) small box of oranges: $20, large box of oranges: $26
B) small box of oranges: $15, large box of oranges: $20
C) small box of oranges: $20, large box of oranges: $15
D) small box of oranges: $11, large box of oranges: $28

4) The school that Jacob goes to is selling tickets to a play. On the first day of ticket sales the
school sold 5 senior citizen tickets and 3 student tickets for a total of $59. The school took in
$144 on the second day by selling 10 senior citizen tickets and 8 student tickets. Find the price
of a senior citizen ticket and the price of a student ticket.

A) senior citizen ticket: $3, student ticket; $18
B) senior citizen ticket: $4, student ticket: $13
C) senior citizen ticket: $13, student ticket: $4
D) senior citizen ticket: $5, student ticket: $18

© 2017 Kuta Selftware LLC. All rights reservedls Made with Vlalinjice Algebra L.
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| Elimination Practice

Sotve each system by elimination.

1) —16x + 10y = 30
! 8x+9y=27

3) 4x—Ty=-24
Tx+4y=-24

5) 40x—-20y=~18
60x — 30y =-30
A) S
B) No solution
C) -5
D) Infirite number of solutions

7y —2x+9y=14
—3x—8y=-22
A) =2
B) Infinite number of solutions
C) -9
D)2

9) 6x+2y=-30
Ox+5y=-27
A) (-6,9) B) (-8,9)
C) (9, -8) D) (-8, -9)

Solve each system by elimination.

Name 1D:

reservoed.

Date Period

|

2) ~Tx + 3y =-30

qx—y=10
4) “3x+9y=-3
—4x—-5y=13

Use elimination to find the x-coordinate of the solution te each system.

6) 8x-3y=-3
~3x+8y=8
A) No solution B) 0O
C) -1 D) I

8) 3x—~10y=-8
~Tx=-3y=22
A) 4
B) Infinite number of solutions
C) 3
D) -4

10) -3x—4y=-4
Tx+6y=—14
A) (8,7) B) (-8,7)
C) (-8, -8) D) (-8, 8)

£ 2017 K wuta Sofvwnre LLC. All rights reserved. Made with Infinite Algebra .
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‘Substitution Practice

Selve each system by substitution.

1) x—4y=-17
3x~-2y=-1

3) y=-3x+1
dx+3y=-12

Name 1D: 1
ALl rights resecved.
Date Period
2) x+4y=14
-5x—-2y=16
4) y=6x-17
=5x=2y=0

Use substitution to find the x~coordinate of the solution to each system.

5) y=8x—-4
-2x+2y=-8
A) -1 B) -7
)0 D)1

Solve each system hy substitution.

7)) y=-8x-4
—4x—-5y=-16
A) (-1, 3) B) (-1, 4)
C) (~1,-3) D) (1, 3)

9} y=-2x
6x+6y=18
A) (=3, 6)
B) Infinite number of solutions
C) (2,-3)
D) (-3, -2)

6) y=4x+18
12x -3y =-54
A) Infinite number of solutions
B) -7
C) No solution
D) 7

8) y==Tx+5
2lx+3y=6
A) No solution B) (7,2)
0 (-2,2) D) (-2,-2)

[0) y=4x+38
S5x+4+2y=3
A) Infinite number of solutions
B) (-1, 3)
C) (-1,4)
D) {-1,-3)

£ 2007 Kuta Seftware LLC. AbLl rights reseevoed. Made wivh Inflinite Algebra |.
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Did You Hear About...

Solve each system of equations below using
multiplication with the addition method. Find the

solution in the answer column and notice: the word
next to it. Write this word in the box coniaining the
letter of that exercise. Keep working and you will
hear about some “udder” nonsense.

@ SX—2y=4

+y=9

3x - 5y =13

3x + 4y = 10

(F) 7x—3y=-5

3x+2y=11

~ OBJECTIVE 6-f To solve svstems of equations using mulilphcatlon

" © ;-sy=7

5x — 2y = -1

(H) 4x+3y=9

3X+ 4y =12

() sx-3y=16

4x + 5y = —

@ 4x -3y = —-20

-x-=8y=5

K) —3x+7y=-1

—-2x+5y=0
@ 5x + 6y = —11
x+y=-4

WA IRE BTG SHLS [hLailUis AT in stdidard forfi)”

X Splve using e best

pMathed
TWEET (1, 2)
HIS (2, 1)
SELLING (-5, 0)
BIRDSEED (-1, —2)
UDDER (2, 0)
)

2,0
THE (2,3
5, 4

ALGEBRAWITH PIZZAZ7)
e YT rEaiE Pibiicatiors

“8INGING (=5, 4)
STARTED (2, -2)
FED (=2, 4)
BUTTER (-1, 3)
COWS (1, 4)
MILK (=1, —1)
FARMER (1, —2)
AND (0, 3)
WINGS (2, —4)
WHO (1, —4)
MOO (1, 3)
CHEEP (5, 2)
BEEF (3, —2)
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- pate:. Class;

Wriking Systems from Word Probiems Practice

1. A sporting good store sells righ’nhdnded and left-handed bdsebadll gloves. [none month, }2
gloves were sold for a fotal revenue of $528. Righ’r-honded gloves cost $48 and lefi-handed
gloves cost $36. How many of each type of glove was sold. -

=2, For a community bake sale, you purchases 12 pounds of sugar and 15 pounds of flour. Your
total cost was $9.30. The next day, you purchased 4 pounds of sugar and 10 pounds of flour.
Your total cost the second day was $4.60. Find the cost of @ pound of sugar and a pound of
flour. ' : -

8. Radio Tower had d séecicﬂ on rec:horgeobie boTTeri;s. I§ sold AA for $1 ‘d.nd AAA for $O..75'.. i

sold 42 bc:ﬁeriés on a single day and recelved $37. How many batteries and of which type .
were sold2 S S

4. Elisa and Stefan each improved their yords by planting daylilies and ivy. They bought their

supplies from the same store. Elisa spent $96 on 14 dayliies and 3 pots of ivy. Stefan spent $104
on 16 daylilies and 2 pots of ivy. Find the cost of one davlily and the cost of one pot of ivy.

8, The sum of two numbers is 47, and their difference is 195. What is ’rhe'vczlue of the smaller and
larger numbere

L e PR TR T e e o e T SO S ST T TR B NS SR B S - R D LD T I S L S ST ™
. * E LT Sl s e T ST T e



Why Did the Three Pigs Leave Home?

Graph each inequality below. Circle the letter of the statement that correctly
describes the location of the graph. Print this letter in each box at the bottom of

page 31 that contains the number of the exercise.

@ yB%x‘—S

@x+y>1

y - yAL
h o b x { O
¥ i
Quadrants I, I, IV, S Quadrants |, 11, 1V;
includes boundary line. excludes boundary line.
All four quadrants; B All four quadrants;
includes '?,9.‘1’.,‘.@&)’,. line. includes boundary line.
Quadrants I, ll, IV; F  Quadrants |, Hl}, IV;
excludes boundary line. exciudes boundary line.
@yszx—z_ @ X+ 2y <6 @y:szz
y " y 9 yAL
+ 5 X ¢ 5 > + 5 »
- < . o ‘
L Quadrants |, Il, IV; C Quadrants i, 1ll, IV; R Al four quadrants;
includes boundary line. ' excludes boundary line. excludes boundary line.
T Quadrants I, ilI, IV; M Quadrants I, 1, IV; U Quadrants lI, lii;
includes boundary line. includes boundary line. includes boundary line.
V Al four quadrants; O Al four quadrants; H Quadrants |, Il;

OB

excludes boundary line.

ALGERRA WITH Pl77A771

FAE I e T e o s 1

excludes boundary line.

includes boundary line.

OBJECTNE 2—| To graph linear inequalities in two variables

,\n 1i i IJ4

T o .-1.'_, pnu{:\a‘.nu Ly

e fO3F it\‘

—




@x<—3

@ 2x~—3ys;12

. 5k +3y<x+6

yAL y4‘_ y“
¢ 5 MHX 4 5 X 5 >
L Quadrants I, 1I; K Quadrants I, Ill, IV; F Al four quadrants;
excludes boundary line. excludes boundary line. excludes boundary line.
W Quadrants I, 1li; U Quadrants It, lil, IV; P Quadrants I, I, Il
excludes boundary line. includes boundary line, excludes boundary line.
G  Quadrants I, lll; | All four quadrants; M  Quadrants [, I, IV;
excludes boundary fine. includes boundary line, excludes boundary line.
(9) 3x+y>0 2(x —y) =5 @D sy-2=3x-7
T [ ) y b . JL yjn -
+ 5 <+ X ¢ 5 HX 4 5 »

k.

LAMQAREIITE SRwabAiTL poa 1o

-+

b 4

Quadrants I, 11, IV; Y All four quadrants; N Quadrants |, Ill, IV;
excludes boundary line. excludes boundary tine. “excludes boundary line.
All four quadrants; U  Quadrants I, Ill, IV; B All four quadrants;
includes boundary line. includes boundary line. includes boundary line.
Quadrants I, ill, 1V; A Quadrants |, lli, IV; D Quadrants I, 1l, IV;
excludes boundary line. inciudes boundary fine. includes boundary line.
315117981013 151196102 |10]11]4]10]9

ALG EBRA WITH PIZZAZZ!
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